WLARRE RR—ExR

Bt 57 HERER AL B xR |SE@ (O [EE (%)
fift Ak (ppm) [ EE (m/s) A |FfkE (ppm) | BiE (m/s) A |FifkE (ppm) | BiE (m/s) )

10738 [8:03~8: 12 0.0 045 |  #iE 0.0 05 @ 0.0 32| @ 2 217 57
107348 [8:08~8: 17] 0.0 04| #iE 0.0 11| dem 0.0 18] @ ™ 213 59
107358 [9:33~9:50] 0.0 05 it 0.0 10| deE 0.0 0.4%iE|  #iE E) 20.1 45
10/68 |10:36~10: 4] 0.0 20 = 0.0 25| @ 0.0 2| m= & 205 43
108108 |81 25~8 : 43| 0.0 04|  #iE 0.0 04kiE| #E 0.0 0.4k #i8 N 165 63
108116 |8 :34~8: 50) 0.0 w10 0.0 25| @ 0.0 37| mE E) 196 64
107125 |8 30~8 : 45 0.0 04|  #iE 0.0 1.0 w 0.0 12| mE E) 168 56
10/ 13F | 10: 07~10: 18 0.0 O.4Kj|  #hiE 0.0 04K |  #i8 0.0 O.4Kj|  ##i8 ] 195 41
10A21H |8 156~8 : 25 0.0 04| #iE 0.0 04kE| #E 0.0 10| i E) 154 76
107250 |8 : 23~8 : 40| 0.0 04|  #iE 0.0 04kE| #E 0.0 20] i [ 7.0 57
105268 | 8: 06~8 : 15 0.0 O.4Kj|  ##iE 0.0 0456 |  #iE 0.0 0456 |  #iE L] 9.8 45
10A27H |11 43~11:52 0.0 — - 0.0 25| @ 0.0 15 s E) 194 34
115318 [8:20~8: 33] <0.01 05 ®® <001 0] & <0.01 10| mE [ 142 54
11528 [8:17~8: 26} <0.01 04K |  #i <0.01 O.4Kj|  #hiE <0.01 O.4Ki|  ##iE ] 153 51
11538 [8:33~8: 4§ <0.01 045 | #iE <0.01 10| mE <001 0] @ E) 135 43
117388 [10:30~10: 43| <0.01 0.4%iE|  #iE <0.01 10| mE <001 04%iE| #iE E) 143 39
11598 |8 40~8:50 <0.01 045 |  #iE <001 04%iE|  #iE <0.01 0.4%iE|  #iE E) 129 37
1153106 [8:08~8: 18 <0.01 045 |  #iE <001 04k #iE <0.01 0.4%iE|  #iE E) 147 40
118150 8 15~8: 27] <0.01 045 |  #iE <0.01 0] @ <0.01 30| mE E) 88 47
117168 |8: 22~8: 38 <0.01 04KkiE| #E <001 04kiE| #E <0.01 0.4%iE|  #iE [ 81 49
118176 |8 15~8: 30 <0.01 045 |  #iE <0.01 04k #iE <0.01 0.4%iE|  #iE E) 30 40
115228 | 3:30~10: : o) <0.01 045 |  #iE <001 04kiE| #E <0.01 0.4%iE|  #iE [ 40 33
113230 |8 45~9: 10 <0.01 045 |  #iE <0.01 04kiE|  #iE <0.01 0.4%iE|  #iE E) 2.0 35
117245 |8: 26~8 : 55 <0.01 04%kiE| #E <001 04kiE| #E 0.02 0.4%iE|  #iE E) 45 69
118250 |9:59~10: 19| 0.06 04| #iE <001 o4kiE| #E <0.01 04%iE|  #iE [ 95 55
115280 |8 43~9: 08 <0.01 04kiE| #E <0.01 04%iE|  #iE <0.01 0.4%iE|  #iE N 46 71
117298 |9: 20~9: 42 0.06 45 [ <001 20 @ <001 20 @ E) 123 70
118308 |8 : 24~8: 47] <001 045 |  #iE <0.01 04%iE|  #iE <0.01 05 dm E 32 64
12/31A [9:10~9: 33] <0.01 08 [ <0.01 08| ® <001 09 im NE 31 30
12828 |9:52~10: 10 <0.01 O.4K5|  #hiE <0.01 0.456|  #iE <0.01 0.4546|  #iE £l 0.2 58
12858 |9:52~10: 15 <0.01 O.4K5|  #hiE <0.01 0.456|  #iE <0.01 0.45%6|  #iE £l 2.1 54
127368 [8:30~8: 40| <001 3.0 [ <001 o5 @ <001 25| @ [ 03 20
12778 [9:12~9: 34] <0.01 04%iE| #E <0.01 04k #iE <0.01 0.4%iE|  #iE E) 2.0 51
12788 |8:26~8: 40| <0.01 04K |  #i 0.02 O.4Kj|  #hiE <0.01 O.4Kj|  #hiE = 13 67
127398 | 8:53~9: 15 <001 045 |  #iE <0.01 045 |  #hiE <001 04kiE| #E [ 6.4 36
128120 |8 : 25~8: 43| <0.01 045 |  #iE <0.01 04%iE|  #iE <0.01 0.4%iE|  #iE E) 38 37
1273130 |8 : 48~9: 08 <0.01 8.0 R 0.02 29] mE <001 15| mm N 6.6 67
1273146 8:13~8:33 <001 045 | #iE <0.01 045 | #iE <001 04kiE| #E E) 48 35
12A15H |8 156~8 : 36 <001 3.0 3 <001 0] ® <001 20] i@ [ 09 39
12816H |8 :23~8: 49 <0.01 045 |  #iE <0.01 04k #iE <0.01 35 @ [ 0.2 41
1273190 | 8:32~8: 53 <001 3.0 [ <0.01 045 |  #iE <001 0] = [ 19 34
1273208 |8 : 45~9: 0 <0.01 045 |  #iE <0.01 04%iE|  #iE <0.01 0.4%iE|  #iE E) 14 47
12/215 8 16~8 : 37 <0.01 04%kiE| #E <001 04kiE| <0.01 0.4%iE|  #iE E) 2.4 12
1273226 |8 17~8: 50 0.08 04kE| #E <001 o4kiE| #E <0.01 04%iE|  #iE [ 0.9 12
128238 |81 17~8: 41] <001 04%kiE| #E 0.06 04kE| #E <0.01 0.4%iE|  #iE E 29 76
1273265 |8: 16~8 : 37 <0.01 04%kiE| #E <001 04kiE| <0.01 0.4%iE|  #iE E) 89 12
123278 9:29~9: 51 <0.01 04kiE| #E 0.03 0.4%iE|  #iE <0.01 0.4%iE|  #iE [ 81 40
128280 | 7:08~7: 27 <0.01 045 |  #iE <0.01 04%iE|  #iE <0.01 0.4%iE|  #iE [ 2.0 49
1273290 | 8:32~8: 52 <001 25 i <001 0] & <001 20] i@ E) 1.0 58
12/3308 | 7:40~7:57 <0.01 1.0 1 <0.01 045 | #iE <001 0.4%iE|  #iE NE -4.0 66
1548 [11:45~12:10) <0.01 06 i <0.01 045 |  #iE <001 04kiE| #E E) 6.7 78
1558 | 8:19~8:42 <0.01 04KkiE| #E <0.01 04%iE|  #iE <0.01 0.4%iE|  #iE E 0.4 63
1868 |8:10~9:15] <0.01 O.4K5H|  #hiE <0.01 0.4546|  #iE <0.01 0.4546| iR 2 29 46
1598 | 8:31~8:54 <001 05 [ <001 04kiE|  #iE <001 04kiE| #iE 2 51 16
1A10A [ 8:11~8: 36 <0.01 04%kiE| #E 0.04 0.4%iE|  #iE <0.01 0.4%iE|  #iE [ 18 41
1A11A | 8:15~8: 35 0.01 04kiE| #E <0.01 0.4%iE|  #iE <0.01 0.4%iE|  #iE [ 2.4 16
1A12A | 8:36~8: 59 <001 045 | #iE <0.01 045 | #iE <001 04kiE| #E [ 9.4 36
1A13A | 8:18~8:43 <0.01 04%kiE| #E <0.01 04%iE|  #iE <0.01 0.4%iE|  #iE [ 29 54
18168 [8:26~8:51 <0.01 04kiE| #E <001 04kiE| #E <0.01 0.4%iE|  #iE E) 0.4 39
1A17A | 8:29~8: 57 <0.01 04%kiE| #E <0.01 04%iE|  #iE <0.01 0.4%iE|  #iE [ 0.4 37
1A18A | 8:24~8: 59 <0.01 15 oA <001 04kiE| #iE <001 o4kiE| #E [ 4.5 51
1A19A | 8:36~9: 04 <0.01 04kiE| #E <0.01 04kiE|  #iE <0.01 0.4%iE|  #iE [ 16 33
1A20A | 8:14~8:38 <001 045 | #iE <0.01 045 | #iE <001 04kE| #E [ 7.8 39
17238 [8:30~8: 50] <001 04kiE| #E <0.01 04%kE| <0.01 04kiE| #E E) 41 44
10248 [8:23~8: 43] <0.01 04kiE| #E <001 04kiE| <0.01 0.4k #iE 0.8 16
10268 [8:21~8: 42 <0.01 04%kiE| #E <001 04%kiE| #E <0.01 0.4%iE|  #iE E 15 16
18278 | 8:17~8:39 <001 045 |  #iE <0.01 045 | #iE <001 04kiE| #E E) -4.9 57
1A308 | 8:19~8:39 <001 20| #@ <0.01 04kiE| #iE <001 04kiE| #iE [ -16.0 39
1A31A | 8:13~8:37 <001 045 | #iE <001 20| mE <0.01 04%ik| #iE E) 3.7 49
2A1A [ 816~8:39 <0.01 04KkiE| #E <0.01 04%iE|  #iE <0.01 0.4%iE|  #iE [ 2.4 37
2528 | 8:29~8:50 <0.01 28] dem <0.01 35| mim <0.01 10w E) 1.2 57
2738 [ 815~8:35 <0.01 10w <0.01 10w <0.01 05 dm E 2.0 55
2760 [ 8:25~8:45 <001 20| #@ <001 04kiE| #iE <001 04kiE| #iE [ 2.4 57
2A7A [ 815~8:36 <0.01 04kiE| #E <0.01 04k #iE <0.01 0.4k #iE [ 2.2 47
2588 |8:39~9: 04 <0.01 045 | #iE <0.01 04k #iE <0.01 0.4%iE|  #iE E) 0.4 44
2798 [ 8:22~8:43 <0.01 04KkiE| #E <0.01 04%iE|  #iE <0.01 0.4%iE|  #iE [ 0.6 12
2A10A | 8:16~8:43 <001 045 |  #iE <0.01 045 |  #iE <001 04kiE| #E [ 44 21
2A13A [ 9:09~9: 33 0.01 04kiE| #E <0.01 0.4%iE|  #iE <0.01 0.4%iE|  #iE [ 3.2 24
2A14A [ 8:11~8:35 <001 05 & <0.01 045 | #iE <001 04KiE| #E E) 0.6 15
2A15A | 8:26~8: 52 <001 045 |  #iE <0.01 045 | #iE <001 o4kil| #E [ 2.9 25
2A16A | 8:19~8: 44 <001 05 mE <0.01 04kiE| #iE <001 04kiE| #iE B 41 49
2A17A | 8:13~8: 35 0.0053 04kiE| #E 0.0051 0.4%iE|  #iE 0.0167 0.4%iE|  #iE [ 1.4 58
2A20A | 8:26~8: 55 0.0036 04kE| #E 0.0033 0.4%iE|  #iE 0.0035 0.4%iE|  #iE E 45 64
2A21A | 8:35~8: 50 0.0022 04K| 0.0889 0.4%i%|  #iE 0.0065 0.4%iE|  #iE [ 45 76
2A22A | 8:21~9:13 0.0097 04kiE| #E 0.0030 0.4%iE|  #iE 0.0042 0.4%iE|  #iE [ 15 47
20238 [9:54~10: 20) 0.0018 35| A 0.0018 15 & 0.0029 30| #E NE 55 55
2A24A | 8:35~9:00 0.0021 0.4%iE|  #iE 0.0034 0.4%i%|  #iE 0.0037 0.4%iE|  #iE [ 22 44
2A27A | 8:27~8:57 0.0027 25| &@ 0.0020 0.4%iE|  #iE 0.0029 0.4%iE|  #iE [ 0.5 30
2A28A | 8:16~8: 38 0.0038 35| ®@ 0.0055 0.4k #i8 0.0040 20] i [ 85 15
3418 | 8:10~8:32 0.0050 0.4%i%|  #iE 0.0049 0.4k #i8 0.0054 0.4%iE|  #iE 2 7.9 55
3728 | 8:37~9:04 0.0024 25] deE 0.0125 0] & 0.0240 10] deE [ 46 12
3838 | 8:15~8:38 0.0027 0.4%iE|  #iE 0.0028 0.4%iE|  #iE 0.0028 0] & [ 38 325
3868 | 8:20~8:43 0.0036 32| &@ 0.0025 21| mE 0.0032 15| ®@ [ 48 41
3A7A [ 8:25~8:46 <001 35| ®@ <001 30 = <0.01 30 & E) 100 16
3A8A | 8:26~8:48 <0.01 37| @ <001 35| mE <001 25| @ E) 81 53
35898 | 8:08~8:29 <0.01 20 = <0.01 0.4%iE|  #iE <0.01 0.4kiE|  #iE i 3.9 39
38108 | 6:28~6:50 <0.01 04KiE| #E <001 04k #iE <0.01 0.4%iE|  #iE N 127 355
3A13A | 8:19~841 0.0081 30| #@ 0.0190 30| mim 0.0060 0.4%iE|  #iE E) 132 435
3A14A | 8:09~8:31 <0.01 04kiE| #E <001 04k #iE <0.01 0.4%iE|  #iE E) 56 353
38158 | 8:10~8:29 0.0048 0.4%iE|  #iE 0.0027 0.4%iE|  #iE 0.0024 0.4%iE|  #iE [ 115 26.1
3A16A | 8:18~8:40 <0.01 10 #® <001 10 @ <0.01 15| @R E) 2.0 104
3A178 | 6:50~7:12 0.0034 0.4k #i8 0.0028 0.4%i%|  #iE 0.0031 04k #iE E) 0.0 74
38208 | 8:25~8:46 0.0026 0.4%iE|  #iE 0.0034 04k #E 0.0034 20| mE [ 9.9 304
38218 | 8:11~8:36 0.0026 0.4k #i8 0.0011 04k #iE 0.0075 04k #E [ 135 408
38228 | 8:11~8:29 0.0100 0.4%iE|  #iE 0.0040 0.4k #i8 0.0048 10| mE [ 117 324
38238 | 8:12~8:32 0.0031 0.4%iE|  #iE 0.0031 0.4k #i8 0.0057 0.4%iE|  #iE E) 109 4238
38248 | 8:21~8:40 0.0032 0.4%iE|  #iE 0.0034 0.4k #i8 0.0048 0.4%iE|  #iE E) 100 66
38278 | 8:29~8:50 0.0042 0.4%iE|  #iE 0.0145 0.4%iE|  #iE 0.0057 0.4%iE|  #iE [ 142 385
3A28A | 8:13~8:32 <0.01 05[ & <0.01 045 | #iE <001 0.4k #iE [ 127 243
38298 | 8:27~8:47 <0.01 20 = <0.01 0.4%iE|  #iE <0.01 10| &A@ [ 134 33
38308 | 8:25~8:47 <0.01 35 @ <001 25| @ <001 20 @ [ 115 462
3A31A | 8:14~8:36 <0.01 04km| #E <0.01 o4k #iE <0.01 20 mE E) 9.4 60




